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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-11_0
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P3-11_0, Day=72 (2025-06-13)
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06:30 283 150.0 2. 888 FA| 1Ri%@06:30 B (KAERE
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P3-11

BYiE) | GEREK G | Ele (EA/E) | EREE B/ R | X8R SRR

07:20 283 150.0 2.888 RS {Ri&@07:20 BHal (REAEREE)
08:00 283 150.0 2. 888 RS {Ri%@08:00 Bz (REEREE)
08:40 283 150.0 2.888 S| {Ri&e08:40 B (REAEEE)
09:35 283 150. 0 2.888 RS {Ri%e09:35 B (REAEHE)
10:35 283 150.0 2. 888 e {Ri8@10:35 Bz (REAERSE)
11:20 283 150.0 2.888 el Rige11:20 Ba) (REEESE)
12:05 283 150.0 2.888 el Rige12:05 Bzl (REAEHSE)
12:40 283 150.0 2. 888 B Rige12:40 Bz (REAERE)
13:15 283 150.0 2. 888 | Rige13:15 Bal (REAEESE)
13:50 283 150.0 2.888 B 1Rige13:50 Bah (REAEESE)
14:25 283 150.0 2.888 BS| 1Ri%e14:25 Bz CGREMEESE)
15:10 283 150.0 2.888 S| Ri%e15:10 B3 (REAERER)
16:00 283 150.0 2.888 B 1Rige16:00 Bzh (REEESE)
16:55 283 150.0 2.888 BS| 1Ri%e16:55 B (GREMEESE)
21t 3962.0 (14)%) 2100.0 EGHIKEC: 2130, PH: 5.8

TERRHERE STHEERT (184.0 : 150.0), AREAT—M@E XAHE
BRINSEEREBE150. 0 ml.

HREVE S RIFEHRPH 5. 77, B THARH A ScHr B3NREPH, 1EF3hiR%
Pl RECE (1887.0 vs 3987.0) i1/

RENZW S RIEREC 2126.0
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